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Find the number of minutes first:

21:50 + n minutes = 22:18.

n minutes = 28 minutes.

Find the number of hours:

22:18 + n hours = 05:18.

n hours = 2 + 5 = 7 hours

Answer: 7 hours and 28 minutes.

No working required, input this directly into your calculator

Answer: 24.352

Bring similar terms together:

This results in: 4m - m + 7k + 3k

4m - m = 3m
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7k + 3k = 10k

Answer: 3m + 10k

A is equal to a length and two heights of the cuboid, which is 10 + 4 + 4 = 18 
cm.

B is equal to the length of the cuboid, which is 10 cm.

C is equal to the width of the cuboid, which is 5 cm.

D is equal to a width AND a height of the cuboid, which is 5 + 4 = 9 cm.

Answer: A = 18cm, B = 10cm, C = 5cm, and D = 9cm.

Total angle in a pie chart = 360°

Blue cars compared to the total are = 3/20

(3/20) x 360° = 54°
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Answer: 54°

Probability of selecting a blue car = 3/20

1 - 3/20 = 17/20

Answer: 17/20

The distance from A to B would be:

- 3 - 7 = -10 on the x-axis

4 - 1 = 3 on the y-axis

Answer: [-10 3]

Answer: Positive correlation
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(1)2 + 3 = 4

(2)2 + 3 = 7

(3)2 + 3 = 12

Answer: 4, 7, 12

This is an exponential sequence, more specifically 3 to the power of n.

It starts with 1, so the power would be n-1.

Answer: 3n-1

2x + 5 = 3

Make x the subject

2x = -2

x = -1

Substitute x as -1

2(-1) + 5 = 3

Answer: -1, 3
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Area formula for trapezium = ½ x height x (a+b), where a and b are 5.3 and 8.7 
respectively.

½ x 3.8 x (5.3 + 8.7) = 26.6

Answer: 26.6 cm2

First, convert 1 ¼ into mixed fraction, giving ⁵⁄₄ - ⅚

Give them the same denominator, resulting in ¹⁵⁄₁₂  - ¹⁰⁄₁₂

Answer: ⁵⁄₁₂

0.35 x 40 = 14 times

Answer: 14
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360 – (180 – 107) = 73

360 – 73 = 287

Answer: 287

Time = Distance / Speed

Total distance = 1750 + 480 = 2330

Speed (in m/hr) = 55 x 1000 = 55000

(2330 / 55000) x 3600 = 146 seconds

Answer: 146 seconds

(i) is a Reflection, with mirror line at x = -2

(ii) is an Enlargement, with scale factor ½ and centre at (-3, -4)
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First, obtain the midpoints, which are (110, 125, 140, and 170)

Then multiply the frequency with the midpoints:

(110 x 32) + (125 x 55) + (140 x 64) + (170 x 49) = 27685

27685 / 200 = 138.425

Answer: 138.425

28x5 = 2 x 2 x 7 x x5

98x3 = 2 x 7 x 7 x x3

Common terms = 2 x 7 x x3
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Answer: 14x3

(½ x 20 x 15) + (120 x 15) + (½ x 15 x 50)

= 150 + 1800 + 375

Answer: 2325

½ x a x b x sin c

= ½ x 4.9 x 5.6 x sin 23

Answer: 5.36
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H = 1/5

43x3x3 = 64x9

Answer: 64x9

y = k / (x + 3)2

k = 24

Answer: 24 / (x + 3)2
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Answer: 72.9 and 287.1

x2 – 16x + a = x2 + 2bx + b2

2b = -16

b = -8

a = (-8) 2 = 64

Answer: a = 64, b = -8

(2/13 x 11/12) + (5/13 x 8/12) + (6/13 x 7/12)

Answer: 2/3
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We need the midpoint as co-ordinates, so (6+2)/2 , (1 + 7)/2, = (4,4)

m = (7-1)/(2-6) = -3/2

Since it is the perpendicular bisector, -3/2 becomes 2/3

c = y – mx

= 4 – (2/3 x 4) = 4/3

Answer: y = 2/3x + 4/3



Additional notes


